Let A be an n x n matrix, and suppose “T” is a subspace of [image: image1.png]


.  Define A(T) to be the set that results from multiplying “A” times vectors in “T” in all possible ways; that is, [image: image2.png]A(T) =iA?:? &7



.
(a) Show that A(T) is also a subspace of [image: image3.png]


 .

(b) For the particular case that A = [image: image4.png]


  

And T = [image: image5.png]f(5):xeq



, which is a 

subspace of [image: image6.png]


, what do you get for the set A(T)?  Describe the set; also,  find a basis for it.
